Quartet No. 14 in G Major

Wolfgang Amadeus Mozart
(1756-1791)
Allegro vivace assai K. 387
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1. The first note in the viola part is 3. The viola is playing in what clef?
(A) F# (A) Tenor
B) G (B) Alto
(C E (C) Treble
(D) A (D) G clef

2. The notes played by the violin II and viola
on the downbeat of measure 2 are

(A) unison

(B) the same pitch name (pitch class), but
the viola plays an octave lower

(C) the same pitch name, but the viola plays
an octave higher

(D) different pitch names

4. The accidentals found in the first two
measures of this excerpt are

(A) D# and F#
(B) F# and G#
(C) C# and At
(D) D# and G#



